D =

     2100000

K123 =

     2307900           0    -2307900      692370           0     -692370

           0      461580      461580     -461580     -461580           0

    -2307900      461580     2769900    -1153950     -461580      692370

      692370     -461580    -1153950     2769900      461580    -2307900

           0     -461580     -461580      461580      461580           0

     -692370           0      692370    -2307900           0     2307900

K134 =

      461580           0           0     -461580     -461580      461580

           0     2307900     -692370           0      692370    -2307900

           0     -692370     2307900           0    -2307900      692370

     -461580           0           0      461580      461580     -461580

     -461580      692370    -2307900      461580     2769900    -1153950

      461580    -2307900      692370     -461580    -1153950     2769900

K123G =

     2307900           0    -2307900      692370           0     -692370           0           0

           0      461580      461580     -461580     -461580           0           0           0

    -2307900      461580     2769900    -1153950     -461580      692370           0           0

      692370     -461580    -1153950     2769900      461580    -2307900           0           0

           0     -461580     -461580      461580      461580           0           0           0

     -692370           0      692370    -2307900           0     2307900           0           0

           0           0           0           0           0           0           0           0

           0           0           0           0           0           0           0           0

K134G =

      461580           0           0           0           0     -461580     -461580      461580

           0     2307900           0           0     -692370           0      692370    -2307900

           0           0           0           0           0           0           0           0

           0           0           0           0           0           0           0           0

           0     -692370           0           0     2307900           0    -2307900      692370

     -461580           0           0           0           0      461580      461580     -461580

     -461580      692370           0           0    -2307900      461580     2769900    -1153950

      461580    -2307900           0           0      692370     -461580    -1153950     2769900

K1234 =

     2769480           0    -2307900      692370           0    -1153950     -461580      461580

           0     2769480      461580     -461580    -1153950           0      692370    -2307900

    -2307900      461580     2769900    -1153950     -461580      692370           0           0

      692370     -461580    -1153950     2769900      461580    -2307900           0           0

           0    -1153950     -461580      461580     2769480           0    -2307900      692370

    -1153950           0      692370    -2307900           0     2769480      461580     -461580

     -461580      692370           0           0    -2307900      461580     2769900    -1153950

      461580    -2307900           0           0      692370     -461580    -1153950     2769900

x1 =

     0

y1 =

     0

x2 =

     1

y2 =

     0

x3 =

     1

y3 =

     1

x4 =

     0

y4 =

     0

c =

    -1

B =

    -1     0     1     0     0     0

     0     0     0    -1     0     1

     0    -1    -1     1     1     0

P =

   F1

   F2

  100

   F4

   F5

 -200

   F7

   F8

U =

  0

  0

 U3

  0

  0

 U6

  0

  0

ans =

2769900*U3+692370*U6

ans =

692370*U3+2769480*U6

R =

  1.0e-004 *

    0.5776

   -0.8666

U =

  1.0e-004 *

         0

         0

    0.5776

         0

         0

   -0.8666

         0

         0

P =

  -33.3145

   26.6624

  100.0000

  133.3387

  -26.6624

 -200.0000

  -39.9989

   39.9989

U123 =

  1.0e-004 *

         0

         0

    0.5776

         0

         0

   -0.8666

e =

  1.0e-004 *

    0.5776

   -0.8666

   -0.5776
